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Algebra solution����
&'�(�)������*+�,-��.�����/X/�0����1���*+-�/Y/�0�����2���������1�
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Mathematical Induction method����
The caluculation follows a pattern till 5th step. The pattern is given below  
For month 1 = value till 5th step is 265  
For month 2 = 365  
for month 3 = 465  
this way,  for month "n" = (n+1)65  
The final result after step 6 can be expressed by = (n+1)65 + value of date  
 

so the final result after step 6 should be first cheked for which range it is falling and then subtract 
the known pattern value from the calulated value. This gives the date. Month can esily identifed 
from the above pattern by deducting 1 from the value in hundreds palce. 
ex: if the end result is 566 then the known pattern value is 565 . So deduct 565 from 566 whcih is 
equalt to 1. That means the date is 1 and the month is (5-1)=4. taht means favourite date is 4th 
month i.e April and date is 1.�
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